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A drawer contains s black socks
and s white socks (s> 0). | pull

two socks out at random without
replacement and call that my first
pair. Then | pull out two socks at
random without replacement and call
that my second pair. | proceed in
this way until | have s pairs

and the drawer is empty. Find the
expected number of pairs in which
two socks are different colors.
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1. Consider a well shuffled deck of cards. The
expected number of cards before the first ace
187
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Ex\re Pvacti e

. (3 pts) On a telephone wire, n birds sit arranged in a line. A noise startles them, causing each bird
to look left or right at random. Calculate the expected number of birds which are not seen by an
adjacent bird.
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